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ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning
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Question ID : 26433068974
Status : Answered
Chosen Option : 1
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Ans X 1.4
X 2.9
3. e
X 4.3

Question ID : 26433059898
Status : Answered
Chosen Option : 3
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Ans X 1. %ad fsp | 3R 1| 3T B &
2. $ad By |1 STERUT BT ®
X 3. Pad frsh | 3TERUI BT §

X 4. Pad B | 3R 111 SFTER0 B &

Question ID : 26433058078
Status : Answered
Chosen Option : 2

Q4 v & 9@ 1 AT srerEr-srerer TRl @ fmmr (mefa 1 @ 3) M
g1 '5' ATl Foreh % Auld Weles W HEAT AT HifaT]

figure 1 figure 2 figure 3
Ans X 1.4
& 2.1
X 3.6
K5 4.3

Question ID : 26433070247
Status : Answered
Chosen Option : 2

Q.5 I ey &1 Ig BT, S TR Mg F I PR Hafid 8, O TR g1 s ugd
TTeg | WAt B1 (R1eat BT el Treaf & U H T 9T ALY 3R I Rheg | SreRT Pt
BTN GR] B TWAT F SATYR TR Th-goR A Hafta 81 g1 =nfge)

Y : Vs :: fagga uw: 2

Ans X 1. Pfeaq
2. TR
X 3. Pl
X 4.0d

Question ID : 26433068357
Status : Answered
Chosen Option : 2




Q.6 TP A foa T B, Fored & U uq g 1 g e fyedt # & 78 wet fawew gfvg,
Sh Y B R B
MOR, SXE, YGR, EPE, ?

Ans X 1.NRM
X 2. KMR
2 3.NRQ
 4.KYR

Question ID : 264330104798

Status : Answered

Chosen Option : 4

Q.7 fAu U gHiHu & F1H-A 3l RIEl & WM RER ged 33 A THH0r Wi 8 wem?
16+422%12-4=40

Ans X 1. :3R+
K2 3R
X 3. +3R-
& 4.+ 3R>

Question ID : 26433067851

Status : Answered

Chosen Option : 4

Q8 39 BT g B R FBIe 3y # 3 veR Taft § o ver frafataa
Y H=ITe 3y H Tifed €1
(Fite: TEmsil Bt TP gew il | fyutira fary famm, gof wemsit w nfordg w@feang #t
ST TR | ITeRVT & A 13 - Kty Aferant SR % SisATge AN ST 3fs 13
# fopar ST gpar 2113 B 1 3% 3 H fauTira w3 iR e 1 3R 3 W nfdrdta dfpamg
HT o1 AT T 2 1)

(42,18, 3)
(36, 14, 4)

Ans X 1.(46,18,4)
o 2. (34,13, 4)
X 3.(42, 15, 5)
X 4.(50, 20, 4)

Question ID : 26433070239

Status : Answered

Chosen Option : 2

Q.9 IH W3- BT TG4 PN, Wil S I Fy BT =901 Har g1, St Fay g 1w sw
g | 3ifierad B
(=rsgt Y Srfyut RIsgl & U F HIFT SWHT AR SR 37 Weg & S1&RT BT TEAdw-l o1
TFRITRER] B HEI $ YR W IRER Feiftrd 7} 1 91ie)
FHwier : fae
Ans g 1. &H'SE:QIEF
X 2. IER ; BlsAT

X 3. SRER : gfgam
X 4. Qiafod - =nfie

Question ID : 26433068419

Status : Answered

Chosen Option : 1




Q.10 = fou T vy #, TR = g AT 7 ¥ | vl T # (<) b arft 3R & S e (-) &
T SR & 1§ wen ¥ fe adb /iy @ WEitd 71 i g S Ue ae/Fameey
¥ YR W IAME 7| 3T e et & & fwm &6t g1 (am < el o1 3% daee
3t # favtfora frg fam, qof wemsit wr wfsart frarfaa @1 st wnfgw ) Sarewor 137 -
13 IR HfHATE 39 5 13 § SigATaeHIAToN ST onfe frar s H@war 31 13 B 1 SR 3 A
dreAT 3R 3R fFR 1 3R 3 WR Y wifshraTd A Ft srgafa T8 @)

Ans 7 1.9-16
X 2.25-51
X 3.13-27
X 411-23

Question ID : 264330105052
Status : Answered
Chosen Option : 1

Q.11 uw Af3d g uTw &, 'NUMEROUS' ®1 'WPGOQTUW' & =T ¥ forar wiTar @ 8iR
'OPTIONAL' 3! 'RQKVPQNC' & w1 # forar SITdT 8 | S} {91 # 'NOTEBOOK' &Y &
fora smem?

Ans X 1.QPGVDQMQ

< 2. QPVGQDMQ
« 3.QPGVQDMQ
< 4.QPGVQDNQ

Question ID : 26433067337
Status : Answered
Chosen Option : 3

Q.12 I FAPey BT 99 B Wl TR HET | I 7R Teafia § fory yer gudt wen uget
eI @ Hafid § ok o) wem uiedl e @ H&fia 21
144 :36::81:?::196:42
Ans X 1.29
X223
7 3.30

& 4.27

Question ID : 26433067908
Status : Answered
Chosen Option : 4

Q13 == guur # o B & aEn PQ W @ I g, & R g & e
el HET gUur giafeT &1 =T w0

P

THOUGHTFIOL

Q

A v JeITHOUOHT
x2 I83THOUOHT

x3 JU4THOOUHT
x+ 1eATHOOUHT

Question ID : 26433067825
Status : Answered
Chosen Option : 1
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Question ID : 26433083104
Status : Answered
Chosen Option : 1

Q.15 fafifRa T # we ([ghea) $ ¥ Rrg 5 @ 1l fugl ol a Temsit w
ST § TG gRI?
20— 10 x 342 + 19 + 51 = 211

Ans X 1.19 3R 342, x 3R +
 2.51 3R 20, - 3R +
< 3.20 3R 342, - 3R =
7< 4.10 3R 20, - 3R x

Question ID : 26433096019
Status : Answered
Chosen Option : 2




Q.16 I fgheq &1 997 HIFT St f3T T 23 & 39 |l e &) Fefd exarg vrapad o
3ot eI A 3T §

1- Submerse

2- Sublimity

3- Submerge

4- Submit

5- Submarine

Ans & 1.2,53 1,4
< 2.2351,4
X 3.2,54,1,3
X 4.53,2 4,1

Status : Answered
Chosen Option : 1

Question ID : 26433079455

Q.17 farel H A 39 BT TG PIFOTE Forad &t 7€ Temai & §= 981 Tay §, St Sy
= few e | Bt et & fu gl

(e MU HEmai wR HIs o Tihar 39F yew 3wl W faunfor far famr, gof Temait
W)

(4, 50, 6)

(13, 128, 3)

Ans X 1.(2,125,3)
« 2. (15,162, 3)
X 3.(12, 60, 5)
X 4.(2,62,6)

Status : Answered
Chosen Option : 2

Question ID : 26433069232

Q.18 ua fAfdd g UTHT A, 'ARTIST' F1 'ASTITT' 3R 'ADVICE' %! 'AEVIDE' frat wiar 81 30
HTST # 'ASPECT' &1 3 feran smemm?

Ans X 1.ATQFDT
< 2. ATEPDT
< 3. ATPECT
« 4. ATPEDT

Status : Answered
Chosen Option : 4

Question ID : 26433066024

Q.19 fafifead vy & § 7€ g ¥ d g i@ @ SRl

17, 34, 51, ?, 85, 102
Ans 7 1.68

X 2.70
X 3.74
X 4.78

Status : Answered
Chosen Option : 1

Question ID : 264330105025




Q.20 f3T Y 3 gl #) U # WER geoq W FufifEd & & S a1 weiieor 98 ghm?
+qUT -

Ans X 1.7x3-10+8+2=29
X 2.4+5x2-9+3=5
X 3.7-5x3+24+6=7
& 4.20+4-5x6+3=32

Question ID : 264330105113
Status : Answered
Chosen Option : 4

Q.21 FFEfIfad TR sieR-TaeHl # J o4 fdt fAfa a8 3 99 § 8k 39 UoR te I8
T &1 P9 AT eR-TG 39 TUE I Yafer 781 872
Ans X 1.KPW
X 2.DIP
« 3.QGM

X 4. SXE

Question ID : 26433081491
Status : Answered
Chosen Option : 3

Q.22 12 fou 7T vy A $© FY R IT9F 91 39 YA W MuTRa $© e fog v §1 faw
T YT B e A, YA g ITH JrH=IE: FId Tt A frar g1 it e ue ofik R
fruifea #3¥ i F19 § e, 3T 7T FY=1 &1 aifdhe T0 F SFERUFA 81
DY
LaftE K&l
in.aftw, K gl
e

Lt w, F El
1. $3 K, WEI &l
. $3F,WgI
Ans X 1. %ad fsp | 3ER T §
2. DS 1t s ereru T dRar §
2< 3. 11T 11 G fh e SRRl aRd &

2K 4.1 T 111 Y Iy SRR BRd §

Question ID : 264330104954
Status : Answered
Chosen Option : 2

Q23 GRRA+B RIS EfH A BRTRAE, AxBHT IS EfH A B AMIR, A-B AT
& A, B 371 uTE 8, 9 fFraferfaa o & #19 a1 oivie g8 Fefid sear g, i P, R Frardi 82

Ans X 1.PxQ-R
X 2.P+RxQ
X 3.QxP+R
& 4 PxQ+R

Question ID : 264330104981
Status : Answered
Chosen Option : 4




Q2 v e 1 9o o, ol i ongpfar Sfafiiea 31 (grm 9t srgmfa 7 B)

X

x 1.

Ans

x 3.

Question ID : 26433068123
Status : Answered
Chosen Option : 2

Q.25 FAHfITET &R STa T I F ¢ Tyaas {07 (?) F RIF W B 91 HaR

STET?
J,D,X,R, L, ?

Ans 1. F
X 26
X 3D
X 4.E

Question ID : 26433066004
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1 e uiemae g #I
Ans X 1. CaCO?

X 2. Ca(OH)?

« 3. CaOCP

X 4.Ca0

Question ID : 264330105485
Status : Answered

Chosen Option : 3




Q.2 fAfAq guaiad R $ oA a1l SR $1 snfreTie 7o oY PeT Bl

Ans X 1. 3{THal

X 2. SRS UL

3. SUET
X 4. o

Question ID : 264330105489
Status : Answered
Chosen Option : 2

Q3 F1 2009 F Wi & Watd ARG REGR AR 2 &1 A= g @

JFrTfard b T ATl
Ans X 1. 3R Hd

X 2. 79, 9ESt
X 3. oud. fmn
o 4. T HIRIGR

Question ID : 26433054476
Status : Answered
Chosen Option : 4

Q.4 WieR YgwHg P TG

Ans X 1. 32-39-heR
% 2. 3¢-39-3%T8T
X 3. 3H
4. Hidre It

& 9 9§ f g9 ST 2l

Question ID : 26433070842
Status : Answered
Chosen Option : 1

Q5 WTTs Lecad
Ans X 1. &I

X 2. Ot
X 3. 3RS
o 4. T

Question ID : 26433087877
Status : Answered
Chosen Option : 1

Q.6 YR H AR A FTIRTT AT R?

Ans X 1. R S Afed g1
2. 81T GHAT B TerdT &
X 3. sl & ot e ST Xa T

X 4. Tph foRy Tig & Y HI Farar ol

Question ID : 26433066636
Status : Not Answered
Chosen Option : --




Q.7 gs ¥ -ifaua &1 Ty Lk
Ans 1. 3{PId

X233
X 3. MR
4. Ruen

Question ID : 264330105580
Status : Answered
Chosen Option : 4

Q.8 YR wezar fufran #i fafewr wd wiefa v« faeft?
Ans X 1.5 1947 H

X 2. 3d 1947 |
X 3.1 1947 H
4. 9ATS 1947

Question ID : 26433089878
Status : Answered
Chosen Option : 4

Q.9 PR §RIT ARFrafia ude s F Y g AR
Ans 1. dfdur

2 2. URdTeT
2 3. it IR
7 4. e Rigial

Question ID : 26433086762
Status : Answered
Chosen Option : 1

Q.10 Which of the following functions of government budget is associated with distribution
of income?
I. Allocation function
Il. Redistribution function

Ans X 1.0nly|
 2.0nly II
< 3. Neither I nor Il
/< 4.Both land lI

Question ID : 264330105384
Status : Answered
Chosen Option : 4

Q.11 fEor e uRuive e Wit #Y a9, Wiz $3 o vefkfa w3 # 39 Sov
mﬁm%mmmwﬂaﬁ%&maﬁﬂm$wmm-zmeﬁwﬁa
™I?

Ans X 1. TH.UA. fHRart
X 2. Ta=ma URg
7 3. ad ashadl
o 4. TR EHH

Question ID : 26433054471
Status : Answered
Chosen Option : 4




Q.12 Fufafad & S 919 9 33 g (1cc) ru A-20 fay B4, 2021 F Asam A2

Ans X 1. 3ffefemr SR guiicis
X 2. 3713 3R Wieds
3. UTFd 3R MR (UAE) 3R 3|
X 4. I 3R T AT 3RS (USA)

Question ID : 26433071550
Status : Answered
Chosen Option : 3
Q.13 fgfafad # @ Si-a1 der fbeadt 82
Ans X 1. NapS0sA1(S04)3.24H,0
2 2. NaxSOsAL(S04)3.20H20
2 3. KoSO4AL(S04)3.12H,0
4. KoSO4AL(SOy4):.24H0
Question ID : 26433066462
Status : Answered
Chosen Option : 4
Q.14 Fmfafad & d #19 ard 2022 ¥ 39 IWR U & IU-GEHEE § A TH A?
Ans 1 SO UIGH
X 2. SdR Rig
X 3. Waaca Rig
X 4. Ae TR0 et
Question ID : 26433054556
Status : Answered
Chosen Option : 1
Q.15 149 SWTFYT B9 g T 32
Ans X 1. AFRE 3fedl
2. SIEIT 4TS
2< 3. gfaun Foif
X 4. dbTATIE
Question ID : 264330105230
Status : Answered
Chosen Option : 2
Q.16 fufafad & @ #9-2f, sraardt gg™ (Sedimentary Rocks) ¥t faRiwar 82
Ans 2 1. RREIYTA (Lithification)
2< 2. JUH (Foliation)
25 3. 94cH (Bands)
< 4. %@ (Lineation)
Question ID : 26433066703
Status : Not Answered

Chosen Option : --




Q.17 frgfafad # & $19-a1 uddig aeafa # urar S aren ga1 22
Ans X 1.T%

X 2.9t
3.8
X 4. PR
Question ID : 264330105633
Status : Answered
Chosen Option : 2
Q.18 3Toig FHR 3 A 2022 § URA & T TG TG & F9 | UgHR J50T faa|
Ans X 1.20d
7 2,239
X 3.27d
 4.250
Question ID : 264330105320
Status : Answered
Chosen Option : 4
Q.19 ¢S H=E Fd Th WReId URAHT A g &1 gud= fFar|
Ans X 1. SIfeRTd AFE ST bl AoTed B
< 2. 1t faarg &t srgAfd &

X 3. fagar gAfdarg W e T
4. Tfga fRan & guR

Question ID : 26433085312
Status : Not Answered
Chosen Option : --

Q.20 7E 2022 # YR & ¢ {4z afer@ & w0 A fraa SriHR GHaT 82
Ans 1.%@%5@

7 2. A A
X 3.0 $AR
7 4.k fhs

Question ID : 264330105319
Status : Answered
Chosen Option : 1

Q.21 T} Ugar o1 |RR g e & fakiy Fu & wHmar s g2
Ans X 1.3SR

X 2. USTd

< 3. Tar

4. HERTY

Question ID : 26433074092
Status : Answered
Chosen Option : 2




Q.22 fafafea & & o1 a1 &= argel ot Iwr R
Ans X 1. BIAR

X 2. S

3. T8

K 4.AR

Question ID : 264330105196
Status : Answered
Chosen Option : 2

Q.23 frafaf@a # @ few @d o1 ugd TAT (Poona) & T { ST SITdT UT?
Ans X 1. @@l

X 2. arcfara
X 3. Juard
4. Ssftie

Question ID : 26433059444
Status : Not Answered
Chosen Option : --

Q.24 gyl ¥ fFT PR Pt HY B ol 82
Ans X 1. 3@ wIrT

7 2. auieA HY

3. % Td G Py

X 4. a1 oM

Question ID : 264330105604
Status : Answered
Chosen Option : 2

Q.25 g Qa1 & faug & T Y B Ug= Hifvel
Ans X 1.8 RaTd B AHRI: U €¢ HIRIeT FURT Bt 8, ST 91 o6 Uep 3iidies IR SR WeA
P TP §1el W A sl B
a}g;.@ﬁwﬁw;wmaﬁﬁwﬁﬁaﬁ%ﬁﬁa@aaﬁw%w%ﬁ
|
X 3. R AT H IHI: T Tg DT PRI B B, S Wi 31 T il W iR dq
D) U 17 TR I &1 It 31

4. T 9T B WHRIG: U €6 HIIe! fURy g1 7, Sl Igay &1 T Sidike WRd 3R
UeeIS 1 Ueb STl 0Rd 9 &1 giell g

Question ID : 26433064748
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 QY Yamfear 36 .. /der aur 48 fob. . rber Y Tra @ wHE fAwn # ga W@ 21 fg =9
et YerTE gRT et e arelt Yo #f 9% U UoW &1 UR & § foran an 9wy 33
Jpus B g I aTell IS F AETS T ghit?

Ans X 1.770 "R
< 2.180 Hiex
o 3. 110 HieR
X 4,90 HieR

Question ID : 264330105702
Status : Answered
Chosen Option : 3




Q2 P 9 | us Sul ¥ Al 31wl & sHeial o uiid oo e g |

FHAE! &1 gferera faawor

THE-B & ANl & WA Herd BI04 82
Ans & 1.126°

X 2.136°

X 3.130°

X 4.120°

Question ID : 26433080348
Status : Answered
Chosen Option : 1

Q.3 27 3R 300 ¥ 1T FEATUT I BT
Ans X 1.180

X 2.45
X 3.135
 4.90

Question ID : 26433065079
Status : Answered
Chosen Option : 4

Q.4
g x+2=7,d <+ 1 SIHA D
X X
Ans X 1. 332
< 2.340
3. 322
X 4. 343

Question ID : 26433075287
Status : Answered
Chosen Option : 3

Q.5 TH T BT A 38,808 cm3 & | I NA BT THIT &FE T PIOCI
Ans X 14433 cm?

< 2.4455 cm?

« 3. 5544.cm?

< 4.3344 cm?

Question ID : 26433063971
Status : Answered
Chosen Option : 3




Q.6 If tan A = 10/15, then what will be the value of cos? A?
Ans X 1.49/269

2. 69/269
2 3. 169/269
X 4.59/269

Question ID : 264330105897
Status : Answered
Chosen Option : 3

Q.7 %2,700 TR 8 HEM & 1T 5 T ufer $ud ufar ATE B 5 | JTYRUI TS i DIOTC?
Ans X 1. T950

<2 3720

v 3 Z1,080

< 4 540

Question ID : 26433092161
Status : Answered
Chosen Option : 3

Q.8 TH PN P 34T 5.6 V.. 81 SHPT AT T N2
Ans X' 126565303

< 2.380 Q.43

o 3.367.95 .13

< 4.195.95 9.7 3

Question ID : 264330105850
Status : Answered
Chosen Option : 3

Q.9 fe e HaTg AYS B YoI1 8 cm B, @ YT &1 &% (31 S-™ad RIFT a guiifera)
Td Bifere]

Ane v 27.71em?
X 2 27.17cm?
X3 27.72cm?
X 4. 27.27cm?

Question ID : 26433074348
Status : Answered
Chosen Option : 1

Q.10 fpaas & faet W te g A Tt ag 30% Pe W Iuasy W 71 afe Fwfi 2800
3ifpd Yeu arell W @ed! €, dt I/ fba= YIar &A1 g2

Ans X 1. %400
X 2. 770
X 3.7476
o 4. 3560

Question ID : 26433075880
Status : Answered
Chosen Option : 4




| feRE F @ FE o T T

I K+l =12 K2+_—142
ofe - g ar =

e et
el

Ans X 1.1 quT Gl
X 2. Fadall
Xa g
4. Had |

Question ID : 264330105960
Status : Answered
Chosen Option : 1

& T2 Pfa A, O §F F1 &g ¢ A 2A0C=140° ¥| LABC & AT #AT Hfw

A c

X 1. 95¢°
X2 103°
v 3 110°
x4 120°

Ans

Question ID : 26433074486
Status : Answered
Chosen Option : 3




Q13 CofaRe afder & wegas 5t 3Rk v & 3 £

Ans

AT - . .
TF - | TEETT At | sifEdr T | EE
A 300 150 300 200
o | e
T 60 85 90 80 65
oTmI, 65 70 60 75 65
e 70 75 80 65 85
ofsT 60 65 60 85 80
mafrer 65 75 70 60 75

afdes fawdt & oo ot garr 9od 3 @ gfavdl
Tfer Zam sl 7 9row 3, 9UT ga R H U I3F ¥ fhaer wasfw

X 11034
o 2. 20 3B
X< 3.25%H
< 4.15 3fAF

Question ID : 26433092175
Status : Answered
Chosen Option : 2

Q.14 e 3 TSNS HT HgwH THTYGAD (HCF) 8 B, at e & | HI-11 ST agwy waIacd

Ans

(Lcm) Tt T8 8 TepaT 82

< 1.40
< 2.56
X 3.48
& 442

Question ID : 26433080084
Status : Answered
Chosen Option : 4

Q.15 = &t 77 arferet 5 faftra auf & S =M gRT fad=ft wmUR @t gl 21

Ans

It 5 9t & 2= P gRT Sited fageht SuR &1 aF T 8

e
s | P | Q
Y1 | 220 | 95
Y2 | 200 | 155
Y3 | 125 | 245
Y4 | 115 | 225
Ys | 85 | 140
2 1.745
2. 149
< 3.155
X 4.135

Question ID : 264330105757
Status : Answered
Chosen Option : 2




Q.16 2 2
gfe [a+1} +[a+2} =16 2,40+ 12a + 4a2 BT U FT 22
Ans 7 1.62
X 2.56
X 3.52
X474

Question ID : 264330105923
Status : Answered
Chosen Option : 1

Q.17 I H1 3141 & fF 98 Rs.36 Ul kg WIS 99 ¥ET &, SRIST HIAA Rs.40 Ul kg €, AfFT a8
1 kg & ToITG 800 UTH T & | THRT BT WTA=Td ATH AT BT AT PIOTT

Ans  p 1. 12.5% BT AY
X 2.12.5% B g
X 3.13.5% BI g1
7 4.13.5% BT TAYH

Question ID : 26433064975
Status : Answered
Chosen Option : 1

Q.18 . .
ofE smgfar # @ v e ve fegsr ABC dfir mmar g, forws 4B
= AC 3T £ACD = 130° &, & «BAC foEes sy gem?

A
30°
B C D

Ans X 1.60°
x 2.70°
 3.80°
X 4.50°

Question ID : 26433075012
Status : Answered
Chosen Option : 3

Q.19 TF TG H i SEAIGIR HRT A 3P A1 TR R WX 64 919 i Bt o Tl BT 20%
I g3 WS faoar 3R yuw Iufasiar & wdl &7 3iaR Fd Hal BT 20% ATl afE gud
Jufaeiar 3R g Iufasiar & wdf &1 siav 37,000 AT, 9t fasiar #1 frax #a e gue

Ans 7 1.1,85,000
/< 2.1,75,000
/< 3.1,95,000
/< 4.1,80,000

Question ID : 26433074728
Status : Answered
Chosen Option : 1




Q20 3x% —2x2 +4x — 1 T 2x — 1 ZaRT FeNTAT A W I°F AHT AT FIaw]

Ans 11

1.
16

X2 3
15

X3 —

16

x4 2

Question ID : 26433075180
Status : Answered
Chosen Option : 1

a gfEtan 8+ cotB = 12 &l tan?6 + cot26 I HH T &2

Ans X 1.66
X 2.132
 3.142
X 4.128

Question ID : 26433066264
Status : Answered
Chosen Option : 3

Q.22 12 9oy 3R 12 AfRRETE faft &1 #Y 9 fa & 1 % Twa 1 6 T2 3R 15 afgand i
$?1zﬁqﬁwmm§|anwmwawﬁﬁsw%mggﬁﬁﬁmm(ﬁﬁﬁ)
Ans 7 1.18
X212
X 3.24
X 4.36

Question ID : 26433075772
Status : Answered
Chosen Option : 1




Q23 e arferssr 1993 ¥ 1998 o Rffes R + Q9Rar agar &

IeaTEe W gl
gufear gt $r JEar (1000 )

I 1993 1994 | 1995 | 1996 | 1997 [1998
L=~y
A 36 34 40 35 375 40
B 20 22 25 23 19.5 18
C 14 22 16 25 29 35
D 60 62 67.5 75 76 80
E 40 45 48 50 80 105
E 45 52 55 60 57.5 56
CE 215 237 2515 |268 2095 |334

o af For scurea A Roer a¥ & goar F Fgean Siard e
Ans 7 1.1995

7 2.1996

2< 3.1994

< 4.1997

Question ID : 26433079787
Status : Answered
Chosen Option : 1

Q.24 Pt B # 7@ V! BT AT YR 50 kg B 1 ST S} # 60 kg 3T HR aTat 6 3R A9
g omd ¥1 AR AN F AT F T UR A 5 kg P I AN 2, A AP A IRU A @
Jal o I= F1d Pifrw|
Ans X 1.2
X2 4
& 3.6

X4 8

Question ID : 26433075345
Status : Answered
Chosen Option : 3




Q.25 S
II'FC.T Atsinh=7 %,?—ﬂ' 45in® — cosB + 1 - 6;'?'_”

45in6 + cos6 — 1

Ans 14

<1
X2 —
X3 —

& 4 —

Question ID : 26433066401
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Rectify the sentence by selecting the correct spelling of the underlined word.

The nine-tailed fox is a mythicil creature from Japanese culture.
Ans X 1. mitical

< 2. mythycal
/< 3. mithical
” 4. mythical

Question ID : 26433065144
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Mr. Alfred hasn’t thought of his friend since he went abroad. Out of sight, out of mind.
Ans X 1. He lost his memory, as he could not see

/5 2. Once you leave the country, your memories vanish
«” 3. If you do not see someone, you forget about them.

/5 4. He simply forgot

Question ID : 26433071892
Status : Answered
Chosen Option : 3

Q.3 Complete the following collocation.

It is easier to make a promise than to a promise.
Ans X 1. maintain

5 2. follow
«” 3. keep
X 4. justify

Question ID : 26433094775
Status : Answered
Chosen Option : 3




Q.4 Select the correct passive form of the given sentence.
She will present the paper next week.

Ans X 1. The paper could be presented next week by her.
< 2. The paper would be presented next week by her.
«” 3. The paper will be presented next week by her.
/< 4. The paper can be presented next week by her.

Question ID : 264330104570
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option to fill in the blank.

The health personnel advised to of unhealthy food habits if we want to
maintain our cardio-vascular health.

Ans X 1. pay lip service
25 2. run short
< 3. keep the pot boiling

o« 4. steer clear

Question ID : 26433070548
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

There are many people in the world who believe that the earth is flat.
Ans X 1. who should believe that
25 2. who belief that
«” 3. No substitution
25 4. who believed

Question ID : 26433084579
Status : Answered
Chosen Option : 3

Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.A certain aim will infuse one’s life with new meaning.

B.At some point, an aimless person’s goals can be shattered and remain unfulfilled.
C.In life, it is critical to have a workable objective or goal.

D.A man who is aimless will never achieve success in life.

Ans 7 1.ADCB
< 2. DCAB
< 3.BCDA
< 4.DBCA

Question ID : 26433070628
Status : Answered
Chosen Option : 4




Q.8 Parts of the following sentence have been given as options. Select the option that

Ans

contains a grammatical error.

He was / paid handsomely for / his ability to handle / the crowd skillful.

25 1. He was

«” 2. the crowd skillful.
/< 3. paid handsomely for
< 4. his ability to handle

Question ID : 26433073825
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the underlined word.
The antonym of a word is sometimes a prefix added to the actual word.

Ans

< 1. metaverse
25 2. metonymy
/< 3. symphony
«” 4. synonym

Question ID : 26433059731
Status : Answered
Chosen Option : 4

Q.10 Select the correct active form of the given sentence.
How his problems will be fixed by you?

25 1. How his problems fixed?

Ans

/5 2. How you fix his problems?
< 3. How are you fixing his problems?

«” 4. How will you fix his problems?

Question ID : 264330104596
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.
In all her sorrow she must weep or she will

Ans

o« 1. suffer
25 2. laugh
< 3.cry
X 4. die

Question ID : 26433086339
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate option that can substitute the underlined segment in the

Ans

given sentence.

The yellow dress purchased by you is not much different than the one | have brought.

< 1. different then the one
/5 2. different as the one
o 3. different from the one

/X 4. different above the one

Question ID : 26433084637
Status : Answered
Chosen Option : 3




Q.13 Select the most appropriate synonym of the underlined word.

Never teach your children to flout the rules and regulations of their educational
institution.

Ans X 1. Monitor
/5 2. Revere
« 3. Mock

/5 4. Divulge

Question ID : 26433070655
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate synonym of the word ‘obscene’ from the following
sentence.

Vijay was suspended from duty because he gave dirty and prejudiced remarks to his
female colleagues in the office.

Ans 7 1. Dirty
/< 2. Colleagues
/< 3. Suspended
/< 4. Prejudice

Question ID : 26433072266
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the underlined word.
An autoimmune disease is a condition in which your immune system mistakenly
attacks your body.

Ans X 1. Fragile
/5 2. Sedentary
«” 3. Susceptible
< 4. Sick

Question ID : 26433061565
Status : Answered
Chosen Option : 1

Q.16 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He does not / know how to / draw quickly / and straightly.
Ans X 1.draw quickly
«” 2. and straightly
/5 3. know how to
< 4. He does not

Question ID : 26433088942
Status : Answered
Chosen Option : 1




Q.17 Select the correct direct form of the given sentence.
We asked them who had called them.

Ans X 1. We said to them, “Who has called him?”
25 2. We said to them, “Who calls you?”
«” 3. We said to them, “Who has called you?”
< 4. We said to them, “Who are calling you?”

Question ID : 264330104639
Status : Answered
Chosen Option : 3

Q.18 Select the sentences that contains no spelling errors.
Ans X 1. Ryan squeked about losing his job owing to a leg injury.

«” 2. Ryan squawked about losing his job owing to a leg injury.
/% 3. Ryan skuawked about losing his job owing to a leg injury.

< 4. Ryan squaked about losing his job owing to a leg injury.

Question ID : 26433070699
Status : Answered
Chosen Option : 1

Q.19 Select the option that can be used as a one-word substitute for the given group of
words.

A perfectionist
Ans X 1. Ambidextrous
< 2. Omniscient
< 3. Optimist

«” 4. Meticulous

Question ID : 26433073675
Status : Answered
Chosen Option : 1

Q.20 Substitute the underlined words with the option that is closest in meaning to it.

Give us some room for improvement.

Ans X 1.room in a house for improvement
/% 2. advice for improvement
/< 3. awarning for improvement

«” 4. an opportunity for improvement

Question ID : 26433088953
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our beautiful ecosystem is being systematically (1) by industrial pollution channelled into
rivers like the Ganga and the Yamuna, nuclear wastes from atomic plants muted into the
world’s oceans, and (2)____ gases such as carbon dioxide mixed with the ozonosphere.
Besides, tropical rainforests and green pastures are disappearing (3) the pressure of a
proliferating population. Dams are being (4) over the rivers like the Narmada to change
nature’s well-balanced surface equations between flora and fauna, and sloping mountainous
terrain is being converted into mini oceans to supply electricity to the ever-starving industrial
stomach of our age. Elephants, tigers, the wild rhinos of South Africa and many other forest
creatures have become (5) species.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.oriented

5 2. designed
«” 3. damaged
X 4. glorified

Question ID : 26433086410
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our beautiful ecosystem is being systematically (1) by industrial pollution channelled into
rivers like the Ganga and the Yamuna, nuclear wastes from atomic plants muted into the
world’s oceans, and (2)____ gases such as carbon dioxide mixed with the ozonosphere.
Besides, tropical rainforests and green pastures are disappearing (3) the pressure of a
proliferating population. Dams are being (4) over the rivers like the Narmada to change
nature’s well-balanced surface equations between flora and fauna, and sloping mountainous
terrain is being converted into mini oceans to supply electricity to the ever-starving industrial
stomach of our age. Elephants, tigers, the wild rhinos of South Africa and many other forest
creatures have become (5) species.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1. hygienic

X 2. useful
< 3. nuclear

«” 4. poisonous

Question ID : 26433086411
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our beautiful ecosystem is being systematically (1) by industrial pollution channelled into
rivers like the Ganga and the Yamuna, nuclear wastes from atomic plants muted into the
world’s oceans, and (2)____ gases such as carbon dioxide mixed with the ozonosphere.
Besides, tropical rainforests and green pastures are disappearing (3) the pressure of a
proliferating population. Dams are being (4) over the rivers like the Narmada to change
nature’s well-balanced surface equations between flora and fauna, and sloping mountainous
terrain is being converted into mini oceans to supply electricity to the ever-starving industrial
stomach of our age. Elephants, tigers, the wild rhinos of South Africa and many other forest
creatures have become (5) species.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.to

«” 2. under
& 3.in
X 4.0on

Question ID : 26433086412
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our beautiful ecosystem is being systematically (1) by industrial pollution channelled into
rivers like the Ganga and the Yamuna, nuclear wastes from atomic plants muted into the
world’s oceans, and (2)____ gases such as carbon dioxide mixed with the ozonosphere.
Besides, tropical rainforests and green pastures are disappearing (3) the pressure of a
proliferating population. Dams are being (4) over the rivers like the Narmada to change
nature’s well-balanced surface equations between flora and fauna, and sloping mountainous
terrain is being converted into mini oceans to supply electricity to the ever-starving industrial
stomach of our age. Elephants, tigers, the wild rhinos of South Africa and many other forest
creatures have become (5) species.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. detected

« 2. built
/5 3. associated

/X 4. validated

Question ID : 26433086413
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Our beautiful ecosystem is being systematically (1) by industrial pollution channelled into
rivers like the Ganga and the Yamuna, nuclear wastes from atomic plants muted into the
world’s oceans, and (2)____ gases such as carbon dioxide mixed with the ozonosphere.
Besides, tropical rainforests and green pastures are disappearing (3) the pressure of a
proliferating population. Dams are being (4) over the rivers like the Narmada to change
nature’s well-balanced surface equations between flora and fauna, and sloping mountainous
terrain is being converted into mini oceans to supply electricity to the ever-starving industrial
stomach of our age. Elephants, tigers, the wild rhinos of South Africa and many other forest
creatures have become (5) species.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. specified

/< 2. accumulated
«” 3. endangered
/< 4. granted

Question ID : 26433086414
Status : Answered
Chosen Option : 3




